
合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
工
業
簿
記

１
　
指
図
書
ご
と
に
外
注
加
工
と
段
取
作
業
を
把
握
し
ま
す
。

ロ
ッ
ト
番

号
A306

A401
A401-1

A402
A402-1

A403
A403-1

合
計

前
月

繰
越

数
量

（個
）

280
―

―
―

―
―

―
280

直
接

材
料

X消
費

量
（個

）
―

250
―

160
42

220
220

892

第
１工

程
直

接
作

業
時

間
―

174
34

108
30

153
149

648

第
２
工

程
直

接
作

業
時

間
223

195
―

128
34

86
88

754

外
注

加
工

数
量

（
）
（

）
（

）
（

）
（

）
（

）
（

）
（

）

段
取

作
業

時
間

（
）
（

）
（

）
（

）
（

）
（

）
（

）
（

）

２
　
製
造
指
図
書
別
原
価
計
算
表
を
記
入
し
ま
す
。

（１）＠
900円

×
（　

　
　

　
）個

＝（　
　

　
　

　
　

）円

（２
）（＠

1,200円
＋
＠

1,800円
）×

（　
　

　
）時

間
＝（　

　
　

　
　

　
　

）円

（３）｛＠
1,500円

×
42個

＋
＠

1,200円
×
（30時

間
＋
34時

間
＋
（　

　
　

）時
間

）＋
＠

900円
×
（　

　
　

）個

　
  ＋

＠
1,800×

（30時
間

＋
34時

間
）}－

＠
（　

　
　

）円
×
42個

＝（　
　

　
　

　
　

　
　

　
　

）円

（４
）{＠

1,500円
×
220個

＋
＠

1,200円
×
（153時

間
＋
86時

間
＋
（　

　
　

）時
間

）＋
＠

900円
×
（　

　
　

）個

　
  ＋

＠
1,800×

（153時
間

＋
86時

間
）}－

＠
（　

　
　

）円
×
220個

＝（　
　

　
　

　
　

　
　

　
　

）円

（５
）（　

　
　

　
　

）円

（６）＠
1,500円

×
220個

＋
＠

1,200円
×
（149時

間
＋
88時

間
＋
（　

　
　

）時
間

）＋
＠

900円
×
（　

　
　

）個

　
  ＋

＠
1,800×

（149時
間

＋
88時

間
）＝（　

　
　

　
　

　
　

　
　

）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
工
業
簿
記

３
　
仕
掛
品
勘
定
と
仕
損
費
勘
定
を
記
入
し
ま
す
。

＜
仕

掛
品

勘
定

の
借

方
＞

　
直

接
材
：＠

1,500円
×
892個

＝（　
　

　
　
　

　
）円

　
直

接
労
：＠

1,200円
×
（648時

間
＋
754時

間
＋
（　

　
）時

間
）＝（　

　
　

　
　

　
）円

　
直

接
経
：＠

900円
×
（　

　
　

　
）個

＝（　
　

　
　

　
　
）円

　
製

造
間
：＠

1,800×
（648時

間
＋
754時

間
）＝（　

　
　

　
　

　
）円

　
仕

損
費
：A401-1（　

　
　
　

　
　

）円
＋
A402-1（　

　
　

　
　
　

）円
＝（　

　
　

　
　

　
）円

＜
仕

掛
品

勘
定

の
貸

方
＞

　
仕

損
品
：＠

（　
　
　

）円
×
42個

＋
＠

（　
　
　

）円
×
220個

＝（　
　

　
　
　

　
）円

　
仕

損
費
：A401-1（　

　
　
　

　
　

）円
＋
A402-1（　

　
　

　
　
　

）円
＋
A403（　

　
　

　
　
　

）円

　
　

　
　
　

＝（　
　
　

　
　

　
）円

　
月

　
末
：A403-1（　

　
　

　
　

　
）円

　
製

　
品
：貸

借
差

額

＜
仕

損
費

勘
定

の
借

方
＞

　
仕

掛
品
：仕

掛
品

勘
定

の
貸
方

・仕
損
費

　
（　

　
　

　
　

　
）円

＜
仕

損
費

勘
定

の
貸

方
＞

　
仕

掛
品
：仕

掛
品

勘
定

の
借
方

・仕
損
費

　
（　

　
　

　
　

　
）円

　
損

　
益
：A403（　

　
　

　
　

　
）円



合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
原
価
計
算

第
１
問

 ベ
ー
ス
と
し
て
製
品
１
個
あ
た
り
、
１
分
あ
た
り
の
貢
献
利
益
額
を
算
定
し
ま
す
。

製
　
品

　
α

製
　
品
　
β

売
価

（
）

（
）

直
材

（
）

（
）

１個
あ
た
り

（
）

（
）

１分
あ
た
り

製
　
品

　
α

製
　
品
　
β

現
有

（　
　
　
）

（　
　
　
）

÷
（　

　
）分

÷
（　

　
）分

＝（
　
　

　
）

＝（
　
　
　
）

新
型

（　
　
　
）

（　
　
　
）

÷
（　

　
）分

÷
（　

　
）分

＝（
　
　

　
）

＝（
　
　
　
）

第
２
問 １

　
 制
約
条
件
の
確
認
と
各
製
品
の
単
位
あ
た
り
貢
献
利
益
を
算
定
し
、
制
約
条
件
の
単
位
あ
た
り
の
貢
献
利
益
を
算
定
し

ま
す
。

１．
制

約
条

件
の
確
認

　
（　

　
　

）個
×
（　

）k
g/
個
＋
（　

　
　
）個

×
（　

）k
g/
個
＝（

　
　
　
　
）k

g（
　
　
）2

2,
00

0k
g

　
（　

　
　

）個
×
（　

）ｈ
/個

＋
（　

　
　
）個

×
（　

）ｈ
/個

＝（
　
　
　
　
）ｈ

（　
　
）2

1,
00

0ｈ

２
．
製

品
単

位
あ
た
り
貢
献
利
益

Ａ
Ｂ

販
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

変
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

貢
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

ｈ
＠

（　
　
　
　
　
　
）

（
）

＠
（　

　
　
　
　
　
）

㎏
＠

（　
　
　
　
　
　
）

（
）

＠
（　

　
　
　
　
　
）

２
　
 Ｌ
Ｐ
を
使
っ
て
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
を
算
定
し
ま
す
。
グ
ラ
フ
は
問
２
と
問
３
で
も
使
用
し
ま
す
。

（ⅰ
）計

算
条
件
な

ど
の
数
式
化

　
Ｍ
ａ
ｘ
Ｚ
＝Ｍ

ａ
ｘ
（（

　
　
　
）Ａ

＋
（　

　
　
）Ｂ

）

　
①

直
材

：（
　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　
　
）　

 ②
直
作
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

　
③

Ａ
≦
（　

　
　
）　

 ④
Ｂ
≦
（　

　
　
）　

 ⑤
Ａ
、
Ｂ
≧
０

合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
原
価
計
算

（ⅱ
）数

式
の
グ
ラ
フ
化

３
　
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
の
変
化
点
を
、
方
程
式
を
使
っ
て
求
め
ま
す
。

（　
　

　
）個

×
ｘ
円

＋
（　

　
　

）個
×
（　

　
　

）円
＜
（　

　
　

）個
×
ｘ
円

＋
（　

　
　

）個
×
（　

　
　

）円

（　
　

　
）個

×
ｘ
円

＜
（　

　
　

）個
×
（　

　
　

）円

ｘ
＜
（　

　
　

）円

４
　
 新
た
に
条
件
を
加
え
た
数
式
を
作
り
、
グ
ラ
フ
を
書
き
直
し
て
、
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
を
求
め
ま
し
ょ
う
。

①
直

材
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

②
直

作
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

③
Ａ
≦
（　

　
　

）

④
Ｂ
≦
（　

　
　

）

⑤
Ａ
、
Ｂ
≧
０



合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
工
業
簿
記

１
　
計
画
販
売
量
か
ら
製
品
・
原
材
料
・
買
掛
金
・
売
掛
金
の
月
末
残
高
を
計
算
し
ま
す
。

○ 製
 

５
月

 
（千

個
）

６月
７
月

８
月

月
初

販
売

　
　

　
14

13
12

14

生
産

　

　
月

末

　

○ 材
 

５
月

 
（千

kg）
６月

７
月

月
初

消
費

購
買

月
末

○ 買
５
月

　
（千

円
）

６月

支
払

月
初

18,496

増
加

月
末

○ 売
５
月

　
（千

円
）

６月

月
初

回
収

26,400

増
加

月
末

×
10％

原
材

料
消

費
量

（　
　

　
）千

個
×
５
㎏

＝（　
　

　
　

）㎏

原
材

料
の
買

掛
金

購
入

額

（　
　

　
）㎏

×
800円

/個
×
40％

＝（　
　

　
　

　
　

）千
円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
工
業
簿
記

２
　
現
金
の
収
支
計
算
表
か
ら
借
入
金
と
支
払
利
息
を
計
算
し
ま
す
。

５
月

６月

月
初

60,000

　
現

金
売

上

　
売

掛
回

収

　
　

収
入

計

　
現

金
仕

入

　
買

掛
支

払

　
変

動
費

計

　
固

定
費

計

　
土

　
　

地

　
支

払
利

息

　
　

支
出

計

　
　

差
引

　
借

入
・返

済

月
末

合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
原
価
計
算

第
１
問

 ベ
ー
ス
と
し
て
製
品
１
個
あ
た
り
、
１
分
あ
た
り
の
貢
献
利
益
額
を
算
定
し
ま
す
。

製
　
品
　
α

製
　
品
　
β

売
価

（
）

（
）

直
材

（
）

（
）

１個
あ
た
り

（
）

（
）

１分
あ
た
り

製
　
品

　
α

製
　
品
　
β

現
有

（　
　
　
）

（　
　
　
）

÷
（　

　
）分

÷
（　

　
）分

＝（
　
　

　
）

＝（
　
　
　
）

新
型

（　
　
　
）

（　
　
　
）

÷
（　

　
）分

÷
（　

　
）分

＝（
　
　

　
）

＝（
　
　
　
）

第
２
問 １

　
 制
約
条
件
の
確
認
と
各
製
品
の
単
位
あ
た
り
貢
献
利
益
を
算
定
し
、
制
約
条
件
の
単
位
あ
た
り
の
貢
献
利
益
を
算
定
し

ま
す
。

１．
制

約
条

件
の
確
認

　
（　

　
　

）個
×
（　

）k
g/
個
＋
（　

　
　
）個

×
（　

）k
g/
個
＝（

　
　
　
　
）k

g（
　
　
）2

2,
00

0k
g

　
（　

　
　

）個
×
（　

）ｈ
/個

＋
（　

　
　
）個

×
（　

）ｈ
/個

＝（
　
　
　
　
）ｈ

（　
　
）2

1,
00

0ｈ

２
．
製

品
単

位
あ
た
り
貢
献
利
益

Ａ
Ｂ

販
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

変
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

貢
＠

（　
　
　
　
　
　
）

＠
（　

　
　
　
　
　
）

ｈ
＠

（　
　
　
　
　
　
）

（
）

＠
（　

　
　
　
　
　
）

㎏
＠

（　
　
　
　
　
　
）

（
）

＠
（　

　
　
　
　
　
）

２
　
 Ｌ
Ｐ
を
使
っ
て
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
を
算
定
し
ま
す
。
グ
ラ
フ
は
問
２
と
問
３
で
も
使
用
し
ま
す
。

（ⅰ
）計

算
条
件
な

ど
の
数
式
化

　
Ｍ
ａ
ｘ
Ｚ
＝Ｍ

ａ
ｘ
（（

　
　
　
）Ａ

＋
（　

　
　
）Ｂ

）

　
①

直
材

：（
　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　
　
）　

 ②
直
作
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

　
③

Ａ
≦
（　

　
　
）　

 ④
Ｂ
≦
（　

　
　
）　

 ⑤
Ａ
、
Ｂ
≧
０

合
格
ア
シ
ス
ト
ノ
ー
ト

第
１
予
想
　
原
価
計
算

（ⅱ
）数

式
の
グ
ラ
フ
化

３
　
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
の
変
化
点
を
、
方
程
式
を
使
っ
て
求
め
ま
す
。

（　
　

　
）個

×
ｘ
円

＋
（　

　
　

）個
×
（　

　
　

）円
＜
（　

　
　

）個
×
ｘ
円

＋
（　

　
　

）個
×
（　

　
　

）円

（　
　

　
）個

×
ｘ
円

＜
（　

　
　

）個
×
（　

　
　

）円

ｘ
＜
（　

　
　

）円

４
　
 新
た
に
条
件
を
加
え
た
数
式
を
作
り
、
グ
ラ
フ
を
書
き
直
し
て
、
最
適
セ
ー
ル
ス
・
ミ
ッ
ク
ス
を
求
め
ま
し
ょ
う
。

①
直

材
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

②
直

作
：（

　
）Ａ

＋
（　

）Ｂ
≦
（　

　
　

　
）

③
Ａ
≦
（　

　
　

）

④
Ｂ
≦
（　

　
　

）

⑤
Ａ
、
Ｂ
≧
０



合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
工
業
簿
記

１
　
連
立
方
程
式
法
に
よ
る
実
際
配
賦
額
を
算
定
し
、
勘
定
記
入
を
し
ま
す
。

動
力

部
＝Ｘ

修
繕

部
＝Ｙ

と
お
くと

、

Ａ
Ｂ

Ｘ
Ｙ

4,183,200
2,189,000

（　
　

　
　

）Ｘ
（　

　
　

　
）Ｘ

△
Ｘ

0.08Ｘ

（　
　

　
　

）Ｙ
（　

　
　

　
）Ｙ

（　
　

　
　

）Ｙ
△
Ｙ

０
０

Ｘ
＝（　

　
　

）Ｙ
＋
4,183,200

Ｙ
＝（　

　
　

）Ｘ
＋
2,189,000

Ｘ
＝（　

　
　

　
　

　
　

　
）

Ｙ
＝（　

　
　

　
　

　
　

　
）

２
　
単
一
基
準
・
実
際
配
賦
に
よ
る
配
賦
額
の
算
定
を
し
ま
す
。

実
際

配
賦

率
：2,386,980円

÷
1,490時

間
＝＠

（　
　

　
　

）円

Ａ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
894時

間
＝（　

　
　

　
　

　
）円

Ｂ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
596時

間
＝（　

　
　

　
　

　
）円

３
　
単
一
基
準
・
予
定
配
賦
に
よ
る
配
賦
額
の
算
定
と
差
異
分
析

変
動

費
率

：1,440,000円
÷
1,500時

間
＝＠

（　
　

　
　

）円

固
定

費
率

：960,000円
÷
1,500時

間
＝＠

（　
　

　
　

）円

予
定

配
賦

率
：＠

（　
　

　
　

）円
＋
＠

（　
　

　
　

）円
＝＠

（　
　

　
　

）円

Ａ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
894時

間
＝（　

　
　

　
　

　
）円

Ｂ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
596時

間
＝（　

　
　

　
　

　
）円

予
算

差
異

： （＠
（　

　
　

　
）円

×
1,490時

間
＋
960,000円

）

－
2,386,980円

＝（　
　

　
　

　
　

）円

操
業

度
差

異
： ＠

（　
　

　
　

）円
×
（1,490時

間
－
1,500時

間
）

＝（　
　

　
　

　
　

）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
工
業
簿
記

４
　
複
数
基
準
・
予
定
配
賦
に
よ
る
配
賦
額
の
算
定
と
差
異
分
析

Ａ
製

造
部

へ
の
配

賦
額

： ＠
（　

　
　

　
）円

×
894時

間
＋
（　

　
　

　
　

　
）円

＝（　
　

　
　

　
　

）円

Ｂ
製

造
部
へ
の
配
賦

額
： ＠

（　
　

　
　

）円
×
596時

間
＋
（　

　
　

　
　
　

）円

＝（　
　

　
　

　
　

）円

予
算

差
異

： （＠
（　

　
　
　

）円
×
1,490時

間
＋
960,000円

）

－
2,386,980円

＝（　
　
　

　
　
　

）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
原
価
計
算

１
　
 差
異
分
析
の
ベ
ー
ス
と
な
る
投
入
量
と
販
売
量
を
整
理
し
ま
す
。

製
品
Ａ

製
品
Ｂ

期
首

販
売

期
首

販
売

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

投
入

期
末

投
入

期
末

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

２
　
 販
売
量
に
も
と
づ
い
て
、
ボ
ッ
ク
ス
図
を
用
い
て
、
販
売
数
量
差
異
を
セ
ー
ル
ス
・
ミ
ッ
ク
ス
差
異
と
総
販
売
数
量
差

異
に
分
解
し
ま
す
。

製
品
Ａ
予
算
貢

利

＠
（　

　
　
　
）円

セ
ー
ル
ス
・ミ

ッ
ク
ス
差
異

総
販

売
数

量
差

異

（　
　
　
　
）千

円
（　

　
　

　
）千

円

販
売
数
量
 

実
 

 
予

 
20

,2
00

個
 

（　
　
　
　
）個

 
18
,0
00

個

 

＝ 
＝ 

＝

構
成
割
合
 

実
（　

　
）％

 
予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

総
販
売
数
量
 

実
31
,0
00

個
 

実
31
,0
00

個
 

予
30
,0
00

個

製
品
Ｂ
予
算
貢
利

＠
（　

　
　
　
）円

セ
ー
ル
ス
・ミ

ッ
ク
ス
差
異

総
販

売
数

量
差

異

（　
　
　
　
）千

円
（　

　
　

　
）千

円

販
売
数
量
 

実
 

 
予

 
10
,8
00

個
 

（　
　
　
　
）個

 
12
,0
00

個

 

＝ 

＝ 

＝

構
成
割
合
 

実
（　

　
）％

 
予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

総
販
売
数
量
 

実
31
,0
00

個
 

実
31
,0
00

個
 

予
30
,0
00

個

合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
原
価
計
算

３
　
ボ
ッ
ク
ス
図
を
用
い
て
、
総
販
売
数
量
差
異
を
市
場
占
有
率
差
異
と
市
場
総
需
要
量
差
異
に
分
解
し
ま
す
。

加
重

平
均

貢
献

利
益

＠
（　

　
　

　
）円

市
場

占
有

率
差

異
市

場
総

需
要

量
差

異

（　
　

　
　

）千
円

（　
　

　
　

）千
円

総
販

売
数

量
 

実
 

 
予

 
31
,0
00
個

 
（　

　
　

　
）個

 
30
,0
00
個

 

＝ 

＝ 

＝

市
場

占
有
率

 
実

（　
　

）％
 

予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

市
場

総
需

要
量

 
実

（　
　

　
　

）個
 

実
（　

　
　

　
）個

 
予

（　
　

　
　

）個



合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
工
業
簿
記

１
　
連
立
方
程
式
法
に
よ
る
実
際
配
賦
額
を
算
定
し
、
勘
定
記
入
を
し
ま
す
。

動
力

部
＝Ｘ

修
繕

部
＝Ｙ

と
お
くと

、

Ａ
Ｂ

Ｘ
Ｙ

4,183,200
2,189,000

（　
　

　
　

）Ｘ
（　

　
　

　
）Ｘ

△
Ｘ

0.08Ｘ

（　
　

　
　

）Ｙ
（　

　
　

　
）Ｙ

（　
　

　
　

）Ｙ
△
Ｙ

０
０

Ｘ
＝（　

　
　

）Ｙ
＋
4,183,200

Ｙ
＝（　

　
　

）Ｘ
＋
2,189,000

Ｘ
＝（　

　
　

　
　

　
　

　
）

Ｙ
＝（　

　
　

　
　

　
　

　
）

２
　
単
一
基
準
・
実
際
配
賦
に
よ
る
配
賦
額
の
算
定
を
し
ま
す
。

実
際

配
賦

率
：2,386,980円

÷
1,490時

間
＝＠

（　
　

　
　

）円

Ａ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
894時

間
＝（　

　
　

　
　

　
）円

Ｂ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
596時

間
＝（　

　
　

　
　

　
）円

３
　
単
一
基
準
・
予
定
配
賦
に
よ
る
配
賦
額
の
算
定
と
差
異
分
析

変
動

費
率

：1,440,000円
÷
1,500時

間
＝＠

（　
　

　
　

）円

固
定

費
率

：960,000円
÷
1,500時

間
＝＠

（　
　

　
　

）円

予
定

配
賦

率
：＠

（　
　

　
　

）円
＋
＠

（　
　

　
　

）円
＝＠

（　
　

　
　

）円

Ａ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
894時

間
＝（　

　
　

　
　

　
）円

Ｂ
製

造
部

へ
の
配

賦
額

：＠
（　

　
　

　
）円

×
596時

間
＝（　

　
　

　
　

　
）円

予
算

差
異

： （＠
（　

　
　

　
）円

×
1,490時

間
＋
960,000円

）

－
2,386,980円

＝（　
　

　
　

　
　

）円

操
業

度
差

異
： ＠

（　
　

　
　

）円
×
（1,490時

間
－
1,500時

間
）

＝（　
　

　
　

　
　

）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
工
業
簿
記

４
　
複
数
基
準
・
予
定
配
賦
に
よ
る
配
賦
額
の
算
定
と
差
異
分
析

Ａ
製

造
部

へ
の
配

賦
額

： ＠
（　

　
　

　
）円

×
894時

間
＋
（　

　
　
　

　
　

）円

＝（　
　

　
　

　
　
）円

Ｂ
製

造
部

へ
の
配

賦
額

： ＠
（　

　
　

　
）円

×
596時

間
＋
（　

　
　

　
　

　
）円

＝（　
　
　

　
　

　
）円

予
算

差
異
： （＠

（　
　
　

　
）円

×
1,490時

間
＋
960,000円

）

－
2,386,980円

＝（　
　

　
　

　
　
）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
原
価
計
算

１
　
 差
異
分
析
の
ベ
ー
ス
と
な
る
投
入
量
と
販
売
量
を
整
理
し
ま
す
。

製
品
Ａ

製
品
Ｂ

期
首

販
売

期
首

販
売

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

（　
　
　

）個

投
入

期
末

投
入

期
末

（　
　
　
）個

（　
　
　
）個

（　
　
　
）個

（　
　
　

）個

２
　
 販
売
量
に
も
と
づ
い
て
、
ボ
ッ
ク
ス
図
を
用
い
て
、
販
売
数
量
差
異
を
セ
ー
ル
ス
・
ミ
ッ
ク
ス
差
異
と
総
販
売
数
量
差

異
に
分
解
し
ま
す
。

製
品
Ａ
予
算
貢

利

＠
（　

　
　
　
）円

セ
ー
ル
ス
・ミ

ッ
ク
ス
差
異

総
販

売
数

量
差

異

（　
　
　
　
）千

円
（　

　
　

　
）千

円

販
売
数
量
 

実
 

 
予

 
20

,2
00

個
 

（　
　
　
　
）個

 
18
,0
00

個

 

＝ 

＝ 

＝

構
成
割
合
 

実
（　

　
）％

 
予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

総
販
売
数
量
 

実
31
,0
00

個
 

実
31
,0
00

個
 

予
30
,0
00

個

製
品
Ｂ
予
算
貢
利

＠
（　

　
　
　
）円

セ
ー
ル
ス
・ミ

ッ
ク
ス
差
異

総
販

売
数

量
差

異

（　
　
　
　
）千

円
（　

　
　

　
）千

円

販
売
数
量
 

実
 

 
予

 
10
,8
00

個
 

（　
　
　
　
）個

 
12
,0
00

個

 

＝ 

＝ 

＝

構
成
割
合
 

実
（　

　
）％

 
予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

総
販
売
数
量
 

実
31
,0
00

個
 

実
31
,0
00

個
 

予
30
,0
00

個

合
格
ア
シ
ス
ト
ノ
ー
ト

第
２
予
想
　
原
価
計
算

３
　
ボ
ッ
ク
ス
図
を
用
い
て
、
総
販
売
数
量
差
異
を
市
場
占
有
率
差
異
と
市
場
総
需
要
量
差
異
に
分
解
し
ま
す
。

加
重

平
均

貢
献

利
益

＠
（　

　
　

　
）円

市
場

占
有

率
差

異
市

場
総

需
要

量
差

異

（　
　

　
　

）千
円

（　
　

　
　

）千
円

総
販

売
数

量
 

実
 

 
予

 
31
,0
00
個

 
（　

　
　

　
）個

 
30
,0
00
個

 

＝ 

＝ 

＝

市
場

占
有
率

 
実

（　
　

）％
 

予
（　

　
）％

 
予

（　
　

）％

 
×
 

×
 

×

市
場

総
需

要
量

 
実

（　
　

　
　

）個
 

実
（　

　
　

　
）個

 
予

（　
　

　
　

）個



合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
工
業
簿
記

１
　
 仕
損
の
発
生
点
を
考
慮
し
、
仕
損
費
の
負
担
関
係
を
把
握
し
ま
す
。

　
　
　
　
　

２
　
仕
損
を
考
慮
し
な
い
生
産
デ
ー
タ
の
整
理

〔問
１〕　

〔問
２
〕

初ＡＢ加

40％
　

100　

（
　

）

（
　

）

完
1,200　

×
＠

7,000
×
＠

（　
　

　
　

）

当ＡＢ加

1,300　

（
　

）

（
　

）

末ＡＢ加

80％
　

200　

（
　

）

（
　

）

×
＠

1,400

×
＠

1,100

×
（＠

2,400＋
＠

2,100）

×
＠

（　
　

　
　

）

×
＠

（　
　

　
　

）

×
（＠

（　
　

　
　

）＋
＠

（　
　

　
　

））

３
　
正
常
仕
損
費
の
算
定
と
仕
損
を
含
む
生
産
デ
ー
タ
の
整
理

１．
原

価
標

準
に
加

算
さ
れ
る
正

常
仕

損
費

：

　
　

{＠
1,400円

＋
（＠

2,400円
＋
＠

2,100円
）×

（　
　

）％
}×

５
％
＝（　

　
　

　
　

）円
 

仕
損
品
１単

位
あ
た
り
の
製
造
原
価
＠
（　

　
　
　
　
　
）円

２
．
生

産
デ

ー
タ
の
整

理

初ＡＢ加

40％
　

100　

（
　

）

（
　

）

完
1,200　

×
＠

（　
　

　
　

　
）

当ＡＢ加

（
　

）

（
　

）

（
　

）

正
・仕

ＡＢ加

60％
　

（
　

）

（
　

）

（
　

）

異
・仕

ＡＢ加

60％
　

（
　

）

（
　

）

（
　

）

×
＠

（　
　

　
　

　
）

末

Ａ
＋
仕Ｂ加

80％
　

200　

（
　

）

（
　

）

×
（＠

1,400＋
＠

（　
　

　
　

））

×
＠

1,100

×
（＠

2,400＋
＠

2,100）

合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
工
業
簿
記

４
　
標
準
原
価
差
異
の
分
析

１．
Ａ
材

 
２
．
Ｂ
材

＠
700

価
（　

　
　

　
　

）
＠
1,100

価
（　

　
　

　
　
）

量
（　

　
　

　
　

）
量
（　

　
　

　
　

）

（　
　

　
　

）kg
2,850kg

（　
　

　
　

）個
1,400個

３．
直

労

＠
1,600円

賃
（　

　
　

　
　

　
　

）

時
（　

　
　
　

　
　

　
）

（　
　
　

　
）ｈ

2,100ｈ

４
．
製

間

第
１
問 １

　
 製
品
Ｂ
か
ら
得
ら
れ
る
月
間
の
販
売
収
益
を
算
定
し
ま
す
。

＠
4,
00
0円

×
（　

　
　

）個
＝（

　
　
　
　
　
　
　
）円

２
　
最
終
製
品
の
月
間
生
産
量
合
計
の
減
産
量
を
算
定
し
、
費
用
の
減
少
額
を
算
定
し
ま
す
。

製
品
Ｂ
30
0個

分
の
加
工

時
間
：3

00
個
×
＠
（　

　
　
　
）時

間
＝（

　
　
　

　
）時

間

製
品
Ａ
の
減
産
量
：（

　
　
　
　
）時

間
÷
３時

間
＝（

　
　
　
）個

月
間
生
産
量
合
計
の
減

産
量
：（

　
　
　
）個

－
（　

　
　
）個

＝（
　
　
　
）個

直
接
材
料
費
の
節
約
額

：＠
50
0円

×
（　

　
　
）個

＝（
　
　
　
　
　
　
　
）円

変
動
加
工
費
の
節
約
額

：（
　
　
　
　
　
　
　
）円

３
　
製
品
Ａ
の
月
間
販
売
収
益
の
減
少
額
を
算
定
し
ま
す
。
製
品
Ａ
の
減
産
量
を
使
っ
て
算
定
し
ま
し
ょ
う
。

＠
（　

　
　
　
）円

×
（　

　
　
）個

＝（
　
　
　
　
　
　
　
）円

４
　
上
記
の
計
算
結
果
を
ふ
ま
え
、
受
注
案
の
採
用
可
否
を
判
断
し
ま
す
。

差
額
収
益
：

　
製
品
Ｂ
の
販
売
収
益
（　

　
　
　
　
）円

－
製
品
Ａ
の
販
売
収
益
（　

　
　

　
　

　
）円

　
＝（

　
　
　
　
　
）円

差
額
原
価
：

　
原
価
節
約
額
（　

　
　
　
　
　
）円

差
額
利
益
：差

額
収
益
－
差
額
原
価

　
（　

　
　
　
　
　
）円

－
（　

　
　
　
　
　
）円

＝（
　
　
　
　
　
　
）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
原
価
計
算

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
原
価
計
算

第
２
問 １

　
 現
在
の
製
品
Ｘ
の
生
産
量
を
算
定
し
、
年
間
固
定
製
造
間
接
費
の
回
避
可
能
額
を
算
定
し
ま
す
。

現
在

の
製
品

Ｘ
の
生

産
量

：（
　

　
　

　
）時

間
÷
４
時

間
＝（

　
　

　
　

）個

年
間

固
定

製
造

間
接

費
の
回

避
可

能
額

：

　
（　

　
　

　
）千

円
＋
（　

　
　

　
）千

円
×
50
％
＝（

　
　

　
　

）千
円

２
　
 部
品
Ｐ
10
個
に
か
か
る
検
収
作
業
時
間
か
ら
、
製
品
Ｘ
１
個
あ
た
り
に
加
算
さ
れ
る
検
収
作
業
時
間
を
算
定
し
、
購

入
案
を
採
用
し
た
場
合
の
製
品
Ｘ
の
生
産
量
を
算
定
し
ま
す
。

製
品

Ｘ
１個

あ
た
り
の
検

収
作

業
時

間
：（

　
　

）時
間

÷
10
個

×
２
個

＝（
　

　
）時

間

購
入

案
を
採

用
し
た
場

合
の
生

産
量

：

　
（（

　
　
　

）時
間

＋
（　

　
　

）時
間

）÷
（４

時
間

＋
（　

　
）時

間
）＝

（　
　

　
　

）個

３
　
受
注
案
の
採
用
可
否
を
判
断
し
ま
す
。

自
製

案

収
益

＠
30
,0
00
円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
製

＠
(　

　
　

　
)円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
販

＠
30
0円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

貢
利

（　
　

　
　

　
）千

円

固
定

（　
　

　
　

　
）千

円

営
利

（　
　

　
　

　
）千

円

変
動

製
造

原
価

（変
製

）：

部
品

Ｐ
：＠

30
0円

×
3k
g＋

＠
50
0円

×
１時

間
＋
＠

70
0円

×
１個

＝＠
（　

　
　

）円

製
品

Ｘ
：＠

（　
　

　
）円

×
２
個

＋
＠

80
0円

×
４
時

間
＝＠

（　
　

　
　

）円

購
入

案

収
益

＠
30
,0
00
円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
製

＠
(　

　
　

　
)円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
販

＠
30
0円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

貢
利

（　
　

　
　

　
）千

円

固
定

（　
　

　
　

　
）千

円

営
利

（　
　

　
　

　
）千

円

変
動

製
造

原
価

（変
製

）：

製
品

Ｘ
：5

,0
00
円

×
２
個

＋
＠

80
0円

×
４
時

間
＝＠

（　
　

　
　

）円



合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
工
業
簿
記

１
　
 仕
損
の
発
生
点
を
考
慮
し
、
仕
損
費
の
負
担
関
係
を
把
握
し
ま
す
。

　
　
　
　
　

２
　
仕
損
を
考
慮
し
な
い
生
産
デ
ー
タ
の
整
理

〔問
１〕　

〔問
２
〕

初ＡＢ加

40％
　

100　

（
　

）

（
　

）

完
1,200　

×
＠

7,000
×
＠

（　
　

　
　

）

当ＡＢ加

1,300　

（
　

）

（
　

）

末ＡＢ加

80％
　

200　

（
　

）

（
　

）

×
＠

1,400

×
＠

1,100

×
（＠

2,400＋
＠

2,100）

×
＠

（　
　

　
　

）

×
＠

（　
　

　
　

）

×
（＠

（　
　

　
　

）＋
＠

（　
　

　
　

））

３
　
正
常
仕
損
費
の
算
定
と
仕
損
を
含
む
生
産
デ
ー
タ
の
整
理

１．
原

価
標

準
に
加

算
さ
れ
る
正

常
仕

損
費

：

　
　

{＠
1,400円

＋
（＠

2,400円
＋
＠

2,100円
）×

（　
　

）％
}×

５
％
＝（　

　
　

　
　

）円
 

仕
損
品
１単

位
あ
た
り
の
製
造
原
価
＠
（　

　
　
　
　
　
）円

２
．
生

産
デ

ー
タ
の
整

理

初ＡＢ加

40％
　

100　

（
　

）

（
　

）

完
1,200　

×
＠

（　
　

　
　

　
）

当ＡＢ加

（
　

）

（
　

）

（
　

）

正
・仕

ＡＢ加

60％
　

（
　

）

（
　

）

（
　

）

異
・仕

ＡＢ加

60％
　

（
　

）

（
　

）

（
　

）

×
＠

（　
　

　
　

　
）

末

Ａ
＋
仕Ｂ加

80％
　

200　

（
　

）

（
　

）

×
（＠

1,400＋
＠

（　
　

　
　

））

×
＠

1,100

×
（＠

2,400＋
＠

2,100）

合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
工
業
簿
記

４
　
標
準
原
価
差
異
の
分
析

１．
Ａ
材

 
２
．
Ｂ
材

＠
700

価
（　

　
　

　
　

）
＠

1,100
価
（　

　
　

　
　

）

量
（　

　
　
　

　
）

量
（　

　
　

　
　
）

（　
　
　

　
）kg

2,850kg
（　

　
　

　
）個

1,400個

３．
直

労

＠
1,600円

賃
（　

　
　
　

　
　

　
）

時
（　

　
　

　
　

　
　

）

（　
　

　
　

）ｈ
2,100ｈ

４
．
製

間

第
１
問 １

　
 製
品
Ｂ
か
ら
得
ら
れ
る
月
間
の
販
売
収
益
を
算
定
し
ま
す
。

＠
4,
00
0円

×
（　

　
　

）個
＝（

　
　
　
　
　
　
　
）円

２
　
最
終
製
品
の
月
間
生
産
量
合
計
の
減
産
量
を
算
定
し
、
費
用
の
減
少
額
を
算
定
し
ま
す
。

製
品
Ｂ
30
0個

分
の
加
工

時
間
：3

00
個
×
＠
（　

　
　
　
）時

間
＝（

　
　
　

　
）時

間

製
品
Ａ
の
減
産
量
：（

　
　
　
　
）時

間
÷
３時

間
＝（

　
　
　
）個

月
間
生
産
量
合
計
の
減

産
量
：（

　
　
　
）個

－
（　

　
　
）個

＝（
　
　
　
）個

直
接
材
料
費
の
節
約
額

：＠
50
0円

×
（　

　
　
）個

＝（
　
　
　
　
　
　
　
）円

変
動
加
工
費
の
節
約
額

：（
　
　
　
　
　
　
　
）円

３
　
製
品
Ａ
の
月
間
販
売
収
益
の
減
少
額
を
算
定
し
ま
す
。
製
品
Ａ
の
減
産
量
を
使
っ
て
算
定
し
ま
し
ょ
う
。

＠
（　

　
　
　
）円

×
（　

　
　
）個

＝（
　
　
　
　
　
　
　
）円

４
　
上
記
の
計
算
結
果
を
ふ
ま
え
、
受
注
案
の
採
用
可
否
を
判
断
し
ま
す
。

差
額
収
益
：

　
製
品
Ｂ
の
販
売
収
益

（　
　
　
　
　
）円

－
製
品
Ａ
の
販
売
収
益
（　

　
　

　
　

　
）円

　
＝（

　
　
　
　
　
）円

差
額
原
価
：

　
原
価
節
約
額
（　

　
　
　
　
　
）円

差
額
利
益
：差

額
収
益
－
差
額
原
価

　
（　

　
　
　
　
　
）円

－
（　

　
　
　
　
　
）円

＝（
　
　
　
　
　
　
）円

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
原
価
計
算

合
格
ア
シ
ス
ト
ノ
ー
ト

第
３
予
想
　
原
価
計
算

第
２
問 １

　
 現
在
の
製
品
Ｘ
の
生
産
量
を
算
定
し
、
年
間
固
定
製
造
間
接
費
の
回
避
可
能
額
を
算
定
し
ま
す
。

現
在

の
製
品

Ｘ
の
生

産
量

：（
　

　
　

　
）時

間
÷
４
時

間
＝（

　
　

　
　

）個

年
間

固
定

製
造

間
接

費
の
回

避
可

能
額

：

　
（　

　
　

　
）千

円
＋
（　

　
　

　
）千

円
×
50
％
＝（

　
　

　
　

）千
円

２
　
 部
品
Ｐ
10
個
に
か
か
る
検
収
作
業
時
間
か
ら
、
製
品
Ｘ
１
個
あ
た
り
に
加
算
さ
れ
る
検
収
作
業
時
間
を
算
定
し
、
購

入
案
を
採
用
し
た
場
合
の
製
品
Ｘ
の
生
産
量
を
算
定
し
ま
す
。

製
品

Ｘ
１個

あ
た
り
の
検

収
作

業
時

間
：（

　
　

）時
間

÷
10
個

×
２
個

＝（
　

　
）時

間

購
入

案
を
採

用
し
た
場

合
の
生

産
量

：

　
（（

　
　
　

）時
間

＋
（　

　
　

）時
間

）÷
（４

時
間

＋
（　

　
）時

間
）＝

（　
　

　
　

）個

３
　
受
注
案
の
採
用
可
否
を
判
断
し
ま
す
。

自
製

案

収
益

＠
30
,0
00
円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
製

＠
(　

　
　

　
)円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
販

＠
30
0円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

貢
利

（　
　

　
　

　
）千

円

固
定

（　
　

　
　

　
）千

円

営
利

（　
　

　
　

　
）千

円

変
動

製
造

原
価

（変
製

）：

部
品

Ｐ
：＠

30
0円

×
3k
g＋

＠
50
0円

×
１時

間
＋
＠

70
0円

×
１個

＝＠
（　

　
　

）円

製
品

Ｘ
：＠

（　
　

　
）円

×
２
個

＋
＠

80
0円

×
４
時

間
＝＠

（　
　

　
　

）円

購
入

案

収
益

＠
30
,0
00
円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
製

＠
(　

　
　

　
)円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

変
販

＠
30
0円

×
(　

　
　

　
)個

＝
（　

　
　

　
　

）千
円

貢
利

（　
　

　
　

　
）千

円

固
定

（　
　

　
　

　
）千

円

営
利

（　
　

　
　

　
）千

円

変
動

製
造

原
価

（変
製

）：

製
品

Ｘ
：5

,0
00
円

×
２
個

＋
＠

80
0円

×
４
時

間
＝＠

（　
　

　
　

）円



合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
原
価
計
算

３
　
 Ａ
Ｂ
Ｃ
に
よ
る
各
製
品
の
単
位
あ
た
り
総
原
価
を
計
算
し
ま
す
。
各
製
品
の
コ
ス
ト
・
ド
ラ
イ
バ
ー
量
と
単
位
あ
た
り

の
金
額
を
算
定
し
ま
し
ょ
う
。
そ
れ
ら
を
使
っ
て
答
案
用
紙
の
表
を
う
め
て
い
き
ま
す
。

製
品

Ｘ
製

品
Ｙ

製
品

Ｚ
合

計

機
械

運
（ 

　
　

）時
間

（ 
　

　
）時

間
（ 

　
　

）時
間

（ 
　

　
）時

間

バ
ッ
チ

（ 
　

　
）　

回
（ 

　
　

）　
回

（ 
　

　
）　

回
（ 

　
　

）　
回

仕
様

書
20
0時

間
40
0時

間
40
0時

間
（ 

　
　

）時
間

出
庫

（ 
　

　
）　

円
（ 

　
　

）　
円

（ 
　

　
）　

円
（ 

　
　

）　
円

出
荷

８
回

18
回

24
回

（ 
　

　
）　

回

直
接

作
（ 

　
　

）時
間

（ 
　

　
）時

間
（ 

　
　

）時
間

（ 
　

　
）時

間

コ
ス
ト
・ド

ラ
イ
バ
ー
単

位
あ
た
り
の
金

額

機
械

運
（　

　
　

　
　

）÷
（　

　
　

　
　

)＝
＠

（　
　

　
　

　
）円

バ
ッ
チ

（　
　

　
　

　
）÷

（　
　

　
　

　
)＝

＠
（　

　
　

　
　

）円

仕
様

書
（　

　
　

　
　

）÷
（　

　
　

　
　

)＝
＠

（　
　

　
　

　
）円

出
庫

（　
　

　
　

　
）÷

（　
　

　
　

　
)＝

＠
（　

　
　

　
　

）円

出
荷

（　
　

　
　

　
）÷

（　
　

　
　

　
)＝

＠
（　

　
　

　
　

）円

直
接

作
（　

　
　

　
　

）÷
（　

　
　

　
　

)＝
＠

（　
　

　
　

　
）円

１
　
 伝
統
的
全
部
原
価
計
算
に
お
け
る
各
製
品
の
製
品
単
位
あ
た
り
総
原
価
と
販
売
価
格
を
計
算
し
ま
す
。

製
品
Ｘ

製
品
Ｙ

製
品

Ｚ
合

計

時
間

（　
　
　
）時

間
（　

　
　
）時

間
（　

　
　
）時

間
（　

　
　

）時
間

配
賦
額

（　
　
　
）千

円
（　

　
　
）千

円
（　

　
　
）千

円
12
,0
00

千
円

製
品
Ｘ

製
品
Ｙ

製
品

Ｚ

直
材

（ 
　
　
　
）千

円
（ 

　
　
）千

円
（ 

　
　

）千
円

直
労

（ 
　
　
　
）千

円
（ 

　
　
）千

円
（ 

　
　

）千
円

製
間
・販

管
（ 
　
　
　
）千

円
（ 

　
　
）千

円
（ 

　
　

）千
円

総
原
価

（ 
　
　
　
）千

円
（ 

　
　
）千

円
（ 

　
　

）千
円

単
位
あ
た
り
総
原
価

（ 
　
　
）円

/個
（ 

　
　
）円

/個
（ 

　
　

）円
/個

単
位
あ
た
り
販
売
価
格

（ 
　
　
）円

/個
（ 

　
　
）円

/個
（ 

　
　

）円
/個

２
　
資
源
消
費
量
の
単
位
あ
た
り
の
金
額
を
算
定
し
、
各
コ
ス
ト
・
プ
ー
ル
に
配
賦
し
て
集
計
し
ま
す
。

①
　
工
場
消
耗
品
費
 

3,
60
0,
00

0÷
 12
,0
00

＝＠
（　

　
　

　
）円

②
　
間
接
工
賃
金
 

2,
40

0,
00

0÷
 5
,0
00

＝＠
（　

　
　

　
）円

③
　
工
員
以
外
の
労
務
費
 

1,
35
0,
00

0÷
 

27
＝＠

（　
　

　
　

）円

④
　
水
道
光
熱
費
 

1,
80
0,
00

0÷
 5
,0
00

＝＠
（　

　
　

　
）円

⑤
　
販
売
費
お
よ
び

一
般
管
理
費
 

2,
10
0,
00

0÷
 

10
0＝

＠
（　

　
　

　
）円

①
②

③
④

⑤
合

計

機
械

（ 
　
　
）
（ 

　
　
）

―
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

段
取

（ 
　
　
）
（ 

　
　
）

―
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

生
産

（ 
　
　
）

―
（ 

　
　
）
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

材
料

（ 
　
　
）

―
（ 

　
　
）
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

梱
包

（ 
　
　
）

―
（ 

　
　
）
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

管
理

（ 
　
　
）

―
（ 

　
　
）
（ 

　
　
）
（ 

　
　

）
（ 

　
　

）

合
格
ア
シ
ス
ト
ノ
ー
ト

ウ
ラ
予
想
　
原
価
計
算

合
格
ア
シ
ス
ト
ノ
ー
ト

予
備
予
想
　
原
価
計
算

１
　
 製
品
Ｘ
の
製
造
に
関
す
る
単
位
あ
た
り
の
キ
ャ
ッ
シ
ュ
の
増
加
額
を
算
定
し
ま
す
。

現
有

2013年
度

現
有

2014年
度

～
新

設
備

を
使

用

販
価

格
4,500

4,500
4,500

直
材

ａ
（　

　
　

　
　

　
）

（　
　

　
　

　
　

）
―

直
材

ｂ
―

―
（　

　
　

　
　

　
）

そ
の
他

1,000
1,000

1,000

（　
　

　
　

　
　

）
（　

　
　

　
　

　
）

（　
　

　
　

　
　

）

×
0.6

（　
　

　
　

　
　

）
（　

　
　

　
　

　
）

（　
　

　
　

　
　

）

材
ａ
Ｔ
Ｓ

（　
　

　
　

　
　

）
―

―

＠
（　

　
　

　
　

）
＠

（　
　

　
　

　
）

＠
（　

　
　

　
　

）

※
Ｔ
Ｓ
 …

 タ
ッ
ク
ス
・シ

ー
ル
ド

２
　
 拡
張
投
資
案
で
は
ど
の
設
備
で
製
品
を
何
個
生
産
す
れ
ば
、
キ
ャ
ッ
シ
ュ
が
最
大
に
な
る
か
を
判
断
し
ま
す
。

13年
14年

～
16年

現
有

で
材

料
在

庫
利

用
（　

　
　

　
　

）
（　

　
　

　
　

）

現
有

で
材

料
購

入
（　

　
　

　
　

）
（　

　
　

　
　

）

新
規

で
材

料
購

入
（　

　
　

　
　

）
（　

　
　

　
　

）

３
　
 拡
張
投
資
案
の
各
時
点
の
差
額
キ
ャ
ッ
シ
ュ
・
フ
ロ
ー
を
算
定
し
ま
す
。

2012年
度

末
：（　

　
　

　
　

）－
０
（現

状
維

持
）＝（　

　
　

　
　

）

2013年
度

末
：拡

案
（　

　
　

　
　

）－
現

案
（　

　
　

　
　

）＝（　
　

　
　

　
）

　
拡

案
：（　

　
　

）×
（　

　
　

）＋
（　

　
　

）×
（　

　
　

）＋
（　

　
　

　
）＝（　

　
　

　
　

）

 
Ｔ
Ｓ

　
現

案
：（　

　
　

）×
（　

　
　

）＝（　
　

　
　

　
）

2014年
度

末
～

2016年
度

末
：拡

案
（　

　
　

　
　

）－
現

案
（　

　
　

　
　

）＝（　
　

　
　

　
）

　
拡

案
：（　

　
　

）×
（　

　
　

）＋
（　

　
　

）×
（　

　
　

）＋
（　

　
　

　
）＝（　

　
　

　
　

）

 
Ｔ
Ｓ

　
現

案
：（　

　
　

）×
（　

　
　

）＝（　
　

　
　

　
）

プ
ロ
ジ
ェ
ク
ト
終

了
時

：（　
　

　
　

　
　

）

合
格
ア
シ
ス
ト
ノ
ー
ト

予
備
予
想
　
原
価
計
算

４
　
タ
イ
ム
テ
ー
ブ
ル
を
書
い
て
正
味
現
在
価
値（
Ｎ
Ｐ
Ｖ
）を
計
算
し
ま
す
。

12年
末

13年
14年

～
16年

終
了

時

（　
　

　
　

　
）

（　
　

　
　

　
）

（　
　
　

　
　
）

（　
　

　
　
　

）

Ｎ
Ｐ
Ｖ

×
１

×
0.9524

×
（　

　
　

）
×
0.8227

（　
　

　
　

　
　

　
）

（　
　

　
　

　
）

（　
　

　
　

　
）

（　
　

　
　

　
）

（　
　
　

　
　
）

５
　
 取
替
投
資
案
の
差
額
キ
ャ
ッ
シ
ュ
・
フ
ロ
ー
を
算
定
し
ま
す
。

2012年
度

末
：

　
現

設
備
の
売

却
収

入
（　

　
　

　
　

　
）

　
設

備
の
売

却
損

益
の
Ｔ
Ｓ

（　
　
　

　
　

　
）

　
材

ａ
の
売

却
収

入
（　

　
　

　
　

　
）

　
材

ａ
の
売

却
の
税
支

払
△
（　

　
　

　
　

　
）

　
新

設
備
の
購

入
△
（　

　
　

　
　

　
）

（　
　
　

　
　

　
）

2013年
度
末

：取
替

（　
　
　

　
　

）－
現

案
（　

　
　

　
　

）＝（　
　

　
　

　
）

　
取

替
：（　

　
　

）×
（　

　
　

）＋
（　

　
　
　

）＝（　
　
　

　
　

）

　
現

案
：（　

　
　

）×
（　

　
　

）＋
（　

　
　
　

）＝（　
　
　

　
　

）

2014年
度

末
～

2016年
度

末
：取

替
（　

　
　

　
　

）－
現

案
（　

　
　

　
　

）＝（　
　

　
　

　
）

　
取

替
：（　

　
　

）×
（　

　
　

）＋
（　

　
　
　

）＝（　
　
　

　
　

）

　
現

案
：（　

　
　

）×
（　

　
　

）＋
（　

　
　
　

）＝（　
　
　

　
　

）

プ
ロ
ジ
ェ
ク
ト
終

了
時

：取
替

（　
　
　

　
　

）－
現

案
（　

　
　
　

　
）＝（　

　
　

　
　

）

６
　
 タ
イ
ム
テ
ー
ブ
ル
を
書
い
て
正
味
現
在
価
値（
Ｎ
Ｐ
Ｖ
）を
計
算
し
ま
す
。

12年
末

13年
14年

～
16年

終
了

時

（　
　

　
　
　

）
（　

　
　

　
　

）
（　

　
　

　
　

）
（　

　
　
　

　
）

Ｎ
Ｐ
Ｖ

×
１

×
0.9524

×
（　

　
　
）

×
0.8227

（　
　

　
　
　

　
　

）
（　

　
　

　
　

）
（　

　
　

　
　
）

（　
　

　
　
　

）
（　

　
　

　
　

）


